

Quote

05/04/2023

To:

North Slope Borough School District Elizabeth Seitz 907-852-9576 (Contact)

### Project:

North Slope Borough School District -Smallwares Elizabeth Seitz Utqiagvik, AK 99723

#### From:

Alaska Restaurant Supply, Inc. Racheal Anaruk 2511 Eagle Street Anchorage, AK 99503 907.276.7044

**ITEM TOTAL:** 

Quote #: 49250 Job Reference Number: 35142

#### Lead Time -

Due to volatility in the world economy all quoted lead times are estimated, and can change after orders are placed. Alaska Restaurant Supply, Inc. will do it's best to update customers to any extended lead time changes, but at this time, factories are operating with limited staffing, and lead time are fluctuating daily without notice being provided to the dealerships.

#### Pricing -

Our quotes are currently to be treated as estimates. We are unable to guarantee a 30 day period of validity as we use to due to quickly changing pricing by our factory partners. We are no longer being notified in advance of price increases. If you are using our pricing to request a loan or on bid work, please ensure your sales manager is aware.

Item	Qty	Description	Sell	Sell Total
1	5 ea	Vollrath Model No. 20229 Packed 6 ea PRODUCTION 125 Economy Steam Table Pan, 1/2 size, 2-1/2" deep, anti-jamming, 201 2B stainless, 24 gauge, NSF, Made in USA (Refer vollrathfoodservice.com for full warranty policy) Weight: 6.8 lbs total		\$69.75
			ITEM TOTAL:	\$69.75
2	5 ea	STEAM TABLE PAN, STAINLESS STEEL  Vollrath Model No. 20249 Packed 6 ea	\$17.95	\$89.75



PRODUCTION 125 Economy Steam Table Pan, 1/2 size, 4" deep, antijamming, 201 2B stainless, 24 gauge, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy)

Weight: 9.85 lbs total

3 6 ea STEAM TABLE PAN, STAINLESS STEEL \$28.95 \$173.70

Vollrath Model No. 20269 Packed 6 ea PRODUCTION 125 Economy Steam Table Pan, 1/2 size, 6" deep, anti-

\$89.75

Item Qty Description Sell Sell Total jamming, 201 2B stainless, 24 gauge, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy) Weight: 11.82 lbs total **ITEM TOTAL:** \$173.70 \$40.95 4 6 ea STEAM TABLE PAN, STAINLESS STEEL \$245.70 Vollrath Model No. 20069 Packed 6 ea PRODUCTION 125 Economy Steam Table Pan, full size, 6" deep, antijamming, 201 2B stainless, 24 gauge, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy) Weight: 20.1 lbs total **ITEM TOTAL:** \$245.70 5 3 ea BIB APRON \$8.95 \$26.85 John Ritzenthaler Company Model No. 600BAW-D Chef Revival® Deluxe Bib Apron, 34" x 34", pencil pocket, durable selfties, heavyweight blended twill fabric, white, Chef 24/7® Dimensions 34(h) x 34(w) Weight: 3 lbs total **ITEM TOTAL:** \$26.85 6 3 pr OVEN MITT \$152.43 \$50.81 San Jamar Model No. 800FG17-BK Packed 1 pr BestGuard™ Oven Mitt, 17", temperature range up to 450° F (232° C) for 30 seconds, ambidextrous, Webguard™ protection, fire retardant, clean with damp cloth, black Weight: 176.55 lbs total **ITEM TOTAL:** \$152.43 7 2 ea POCKET THERMOMETER \$23.90 \$11.95 San Jamar Model No. THDGPCKT Escali Pocket Thermometer, digital, 4-3/4" stainless steel probe, temperature range -40° to 500°F / -40° to 260°C, anti-roll design, antimicrobial protective sheath with pocket clip, NSF 2 ea 1 year warranty standard Weight: 0.16 lbs total **ITEM TOTAL:** \$23.90



8

Impact Products Model No. 8225S Packed 1 dz Pro-Guard® Gloves, 18"L, small, long-sleeve, heavy weight, embossed grip, resists wide range of acids, solvents and petroleum based products, resistant to puncture, cut, and abrasion, latex free, unlined, nitrile, green, FDA complaint (12 pairs per dozen)

1 ea DISHWASHING / CLEANING GLOVES

Page 2 of 22

\$10.95

\$10.95

Item	Qty	Description	Sell	Sell Total
		Weight: 0.6 lbs total		
			ITEM TOTAL:	\$10.95
9	1 ea	DISHWASHING / CLEANING GLOVES	\$10.95	\$10.95
		Impact Products Model No. 8225M Packed 1 dz		
		Pro-Guard® Gloves, 18"L, medium, long-sleeve, heavy weight,		
		embossed grip, resists wide range of acids, solvents and petroleum		
		based products, resistant to puncture, cut, and abrasion, latex free	,	
		unlined, nitrile, green, FDA complaint (12 pairs per dozen)		
		Weight: 0.6 lbs total		
			ITEM TOTAL:	\$10.95
10	1 ea	DISHWASHING / CLEANING GLOVES	\$10.95	\$10.95
		Impact Products Model No. 8225L Packed 1 dz		
		Pro-Guard® Gloves, 18"L, large, long-sleeve, heavy weight, emboss	sed	
		grip, resists wide range of acids, solvents and petroleum based		
		products, resistant to puncture, cut, and abrasion, latex free, unlin	ed,	
		nitrile, green, FDA complaint (12 pairs per dozen)		
		Weight: 0.6 lbs total		_
			ITEM TOTAL:	\$10.95
11	2 dz	BAR TOWEL	\$12.95	\$25.90
		Winco Model No. BTW-30 Packed 20 dz		
		Bar Towel, 16" x 19", 100% cotton, white (Qty Break = 10 dozen)		
1	1	Dimensions 19(w) x 16(d)		
		W : L. 2 005 II I		
		Weight: 3.836 lbs total	ITEA 4 TOTA 1	40= 00
			ITEM TOTAL:	\$25.90
12	5 ea	SALAD CROCK, PLASTIC	\$10.95	\$54.75
		Carlisle Model No. 031603 Packed 6 ea		
		Classic Crock, 1.5 qt., snap-on polypropylene lid, thick-walled,	<b>-</b>	
		stain/break/chip resistant, dishwasher safe, temperature range 0°F	- 10	
		180°F, high-gloss finish, SAN, black, NSF, Made in USA Dimensions 4.06(h) x 6.56(w)		
		Weight: 4.583 lbs total		
		Weight: 11303 103 total	ITEM TOTAL:	\$54.75
13	3 02	PORTION CONTROL SPOON / LADLE	\$3.80	\$11.40
13	J Ca	American Metalcraft Model No. SPN2 Packed 72 ea	γ3.00	711.40
		Spooner, 2 oz., 2-1/2" diameter solid stainless steel bowl, ladle sty	de	
	3	10-3/4" bakelite grip handle, 1-piece, red	ις,	
0		10 0) F Dantelite grip Hamaie, 1 prese, rea		
		Weight: 0.724 lbs total		
		O Company of the comp		

Page 3 of 22

Item	Qty	Description	Sell	Sell Total
14	3 ea	PORTION CONTROL SPOON / LADLE	\$4.40	\$13.20
		American Metalcraft Model No. SPN4 Packed 72 ea		
		Spooner, 4 oz., 3-3/8" diameter solid stainless steel bowl, ladle styl	e,	
		10-3/4" bakelite grip handle, 1-piece, green		
		Weight: 0.937 lbs total		
		_	ITEM TOTAL:	\$13.20
15	3 ea	PORTION CONTROL SPOON / LADLE	\$5.50	\$16.50
	3 64	American Metalcraft Model No. SPN6 Packed 72 ea	φ3.30	<b>410.00</b>
		Spooner, 6 oz., 3-3/4" diameter solid stainless steel bowl, ladle styl	e.	
		10-3/4" bakelite grip handle, 1-piece, black	-,	
0				
		Weight: 1.041 lbs total		
			ITEM TOTAL:	\$16.50
16	3 ea	PORTION CONTROL SPOON / LADLE	\$6.00	\$18.00
		American Metalcraft Model No. SPN8 Packed 72 ea		
		Spooner, 8 oz., 4" diameter solid stainless steel bowl, ladle style, 10	)-	
		3/4" bakelite grip handle, 1-piece, blue		
0				
		Weight: 1.146 lbs total		
			ITEM TOTAL:	\$18.00
17	3 ea	PORTION CONTROL SPOON / LADLE	\$3.95	\$11.85
		American Metalcraft Model No. SPNP2 Packed 72 ea		
		Spooner, 2 oz., 2-1/2" diameter perforated stainless steel bowl, lad	le	
		style, 10-3/4" bakelite grip handle, 1-piece, red		
<b>O</b>				
		Weight 0.722 lbs total		
		Weight: 0.733 lbs total		444.05
			ITEM TOTAL:	\$11.85
18	3 ea	PORTION CONTROL SPOON / LADLE	<b>ITEM TOTAL:</b> \$4.50	<b>\$11.85</b> \$13.50
18	3 ea	PORTION CONTROL SPOON / LADLE  American Metalcraft Model No. SPNP4 Packed 72 ea	\$4.50	
18	3 ea	PORTION CONTROL SPOON / LADLE  American Metalcraft Model No. SPNP4 Packed 72 ea  Spooner, 4 oz., 3-3/8" diameter perforated stainless steel bowl, lad	\$4.50	
18	3 ea	PORTION CONTROL SPOON / LADLE  American Metalcraft Model No. SPNP4 Packed 72 ea	\$4.50	
18	3 ea	PORTION CONTROL SPOON / LADLE  American Metalcraft Model No. SPNP4 Packed 72 ea  Spooner, 4 oz., 3-3/8" diameter perforated stainless steel bowl, lad	\$4.50	
18	3 ea	PORTION CONTROL SPOON / LADLE  American Metalcraft Model No. SPNP4 Packed 72 ea  Spooner, 4 oz., 3-3/8" diameter perforated stainless steel bowl, lad style, 10-3/4" bakelite grip handle, 1-piece, green	\$4.50	
18	3 ea	PORTION CONTROL SPOON / LADLE  American Metalcraft Model No. SPNP4 Packed 72 ea  Spooner, 4 oz., 3-3/8" diameter perforated stainless steel bowl, lad style, 10-3/4" bakelite grip handle, 1-piece, green  Weight: 0.892 lbs total	\$4.50 le	\$13.50
18		PORTION CONTROL SPOON / LADLE  American Metalcraft Model No. SPNP4 Packed 72 ea  Spooner, 4 oz., 3-3/8" diameter perforated stainless steel bowl, lad style, 10-3/4" bakelite grip handle, 1-piece, green  Weight: 0.892 lbs total	\$4.50	



American Metalcraft Model No. SPNP6 Packed 72 ea Spooner, 6 oz., 3-3/4" diameter perforated stainless steel bowl, ladle style, 10-3/4" bakelite grip handle, 1-piece, black

Weight: 1.036 lbs total

20 3 ea **PORTION CONTROL SPOON / LADLE** \$6.40 \$19.20



American Metalcraft Model No. SPNP8 Packed 72 ea Spooner, 8 oz., 4" diameter perforated stainless steel bowl, ladle style, 10-3/4" bakelite grip handle, 1-piece, blue

Weight: 1.158 lbs total

 21
 3 ea
 STICKERS (LABELS)
 \$13.25

 \$33.75



Cambro Model No. 1252SLB250 Packed 1 cs StoreSafe® Food Rotation Label, 1-1/4" x 2", label & adhesive dissolves in less than 30 seconds, withstands high heat temp. up to 200° F (93° C) for 4 hours, microwave safe, 100% biodegradable, white, FDA approved (250 labels per roll, 24 rolls per case)

Weight: 0.42 lbs total

22 2 st MEASURING SPOON \$7.25 \$14.50



Vollrath Model No. 47118 Packed 12 st
Measuring Spoon Set, four-piece, 18-8 stainless, capacities stamped in teaspoons & milliliters, set contains; 1-tbl., 1-tsp., 1/2-tsp., 1/4-tsp., packaged in individual blister pack, imported (Refer to vollrathfoodservice.com for full warranty policy)

Weight: 0.44 lbs total

Vollrath Model No. 47119

23 2 st **MEASURING CUP** \$22.00 \$44.00



Measuring Cup Set, four-piece, 300 series stainless steel, measurements stamped into side of each cup, integral spout, dishwasher safe, set contains; 1-cup, 1/2-cup, 1/3-cup, 1/4-cup, imported (Refer to vollrathfoodservice.com for full warranty policy)

Packed 12 st

Weight: 1.355 lbs total

24 4 ea **FOOD STORAGE CONTAINER** \$5.95 \$23.80

**ITEM TOTAL:** 

\$14.50

				00,0.,=0=
Item	Qty	Description	Sell	Sell Total
		Carlisle Model No. 1195007 Packed 6 ea Squares Food Storage Container, 2 qt., 7-1/8" x 3-4/5"H, square, reinforced stacking lugs, wide handles, date indicator, printed measurements, dishwasher safe, polycarbonate, clear with green print, NSF, Made in USA Dimensions 3.8(h) x 7.13(w) x 7.13(d)		
	4 ea	1197008 Squares Food Storage Container Lid, fits 2 - 4 qt Squares food storage containers, polyethylene, forest green, NSF, Made in USA  Weight: 3.36 lbs total	\$2.95	\$11.80
		Π	TEM TOTAL:	\$35.60
25	4 ea	FOOD STORAGE CONTAINER  Carlisle Model No. 1195107 Packed 6 ea  Squares Food Storage Container, 4 qt., 7-1/8" x 7-3/10"H, square, reinforced stacking lugs, wide handles, date indicator, printed measurements, dishwasher safe, polycarbonate, clear with green print, NSF, Made in USA	\$8.95	\$35.80
	4 ea	Dimensions 7.3(h) x 7.13(w) x 7.13(d)  1197008 Squares Food Storage Container Lid, fits 2 - 4 qt Squares food storage containers, polyethylene, forest green, NSF, Made in USA  Weight: 4.68 lbs total	I \$2.95	\$11.80
		Π	TEM TOTAL:	\$47.60
26	4 ea	FOOD STORAGE CONTAINER  Carlisle Model No. 1195207 Packed 6 ea  Squares Food Storage Container, 6 qt., 8-3/4" x 7-3/10"H, square, reinforced stacking lugs, wide handles, date indicator, printed measurements, dishwasher safe, polycarbonate, clear with red print NSF, Made in USA	\$11.95 ,	\$47.80
	4 ea	Dimensions 7.3(h) x 8.75(w) x 8.75(d)  1197105 Squares Food Storage Container Lid, fits 6 - 8 qt Squares food storage containers, polyethylene, red, NSF, Made in USA  Weight: 6.513 lbs total	I \$3.95	\$15.80
		n	TEM TOTAL:	\$63.60
27	2 ea	FOOD STORAGE CONTAINER  Carlisle Model No. 1195607 Packed 6 ea  Squares Food Storage Container, 22 qt., 11-1/8" x 15-3/4"H, square, reinforced stacking lugs, wide handles, date indicator, printed measurements, dishwasher safe, polycarbonate, clear with blue prin NSF, Made in USA  Dimensions 15.75(h) x 11.13(w) x 11.13(d)	\$33.95 t,	\$67.90
	2 ea	1197260 Squares Food Storage Container Lid, fits 12 - 22 qt Squares food storage containers, polyethylene, royal blue, NSF, Made in USA	\$4.95	\$9.90

Weight: 9.3 lbs total

#### 1 ea HEATED HOLDING PROOFING CABINET, MOBILE

\$2,895.00

**ITEM TOTAL:** 

**\$77.80** \$2,895.00



28

Metro Model No. C5E9-CFC-U C5 E Series Heated Holding & Proofing Cabinet, mobile, full height non-insulated, clear polycarbonate door, bottom mount control module, 80° to 190°F operating temperature range, universal wire slides on 4-1/2" centers, adjustable on 1-1/2" increments, (12) 18" x 26" or (24) 12" x 20" x 2-1/2" pan capacity, 5" casters (2 with brakes), aluminum, 120v/60/1, 2,000 watts, 16.7 amps, NEMA 5-20P, cULus, NSF,

Dimensions 71.4(h) x 25.8(w) x 29.6(d)

1 ea 1 year warranty against manufacturing defects

Weight: 113 lbs total

## 29 1 ea UNIVERSAL PAN RACK

Made in USA

**S186.00** 

\$2,895.00

\$186.00



Winco Model No. ALRK-10BK
Sheet Pan Rack, mobile, (10) full-size 18" x 26" or (20) half-size 18" x 13" sheet pans capacity, 400 lb. capacity, 3" runner spacing, rubber casters (2 with brakes), aluminum, KD, NSF (Qty Break = 1 each)
Dimensions 39(h) x 21(w) x 26.5(d)

Weight: 23.9 lbs total

## 2 ea FOOD CONTAINER BOX

S84.00

**\$186.00** \$168.00



30

Carlisle Model No. 1062407 Packed 3 ea StorPlus™ Food Storage Box, 21-1/2 gallon, 26"L x 18"W x 15"H, reinforced corners, stackable, date indicators, easy-grip handles, break-resistant, dishwasher safe, textured non-slip finish, polycarbonate, clear, NSF, Made in USA Dimensions 15(h) x 26(w) x 18(d)

Weight: 20.333 lbs total

\$168.00

31 4 ea **FOOD CONTAINER BOX** 

**ITEM TOTAL:** \$29.95

\$119.80



32

Carlisle Model No. 1061207 Packed 6 ea

StorPlus™ Food Storage Box, 5 gallon, 18"L x 12"W x 9"H, reinforced corners, stackable, date & capacity indicators, easy-grip handles, break-resistant, dishwasher safe, textured non-slip finish, polycarbonate, clear, NSF, Made in USA

Dimensions 9(h) x 18(w) x 12(d)

Weight: 12.667 lbs total

4 ea **FOOD STORAGE CONTAINER, BOX COVER LID** 

ITEM TOTAL:

\$119.80

\$10.95

\$43.80



Carlisle Model No. 1063702 Packed 6 ea StorPlus™ Food Storage Lid, 18"L x 12"W, reinforced corners, locktight, stackable, reversible-use as a bun pan/tray, date indicator, dishwasher safe, polyethylene, white, NSF, Made in USA Dimensions 1.28(h) x 18(w) x 12(d)

Weight: 4 lbs total

33 4 ea **FOOD CONTAINER BOX**  **ITEM TOTAL:** 

\$43.80

\$67.00

\$29.00 \$116.00



Carlisle Model No. 1064102 Packed 6 ea StorPlus™ Food Storage Box, 8-1/2 gallon, 26"L x 18"W x 6"H, reinforced corners, stackable, dishwasher safe, polyethylene, white, NSF, Made in USA, BPA Free Dimensions 6(h) x 26(w) x 18(d)

Weight: 15 lbs total

**ITEM TOTAL:** \$116.00 \$16.75

34 4 ea FOOD STORAGE CONTAINER, BOX COVER LID



Carlisle Model No. 1064702 Packed 6 ea StorPlus™ Food Storage Lid, 26"L x 18"W, reinforced corners, locktight, stackable, reversible-use as a bun pan/tray, date indicator, dishwasher safe, polyethylene, white, NSF, Made in USA Dimensions 1.28(h) x 26(w) x 18(d)

Weight: 6.667 lbs total

4 ea FOOD STORAGE CONTAINER

**ITEM TOTAL:** \$67.00 \$17.95 \$71.80

**ITEM TOTAL:** 



35

Carlisle Model No. 1195407 Packed 6 ea Squares Food Storage Container, 12 qt., 11-1/8" x 8-1/4"H, square, reinforced stacking lugs, wide handles, date indicator, printed measurements, dishwasher safe, polycarbonate, clear with blue print, NSF, Made in USA

Dimensions 8.25(h) x 11.13(w) x 11.13(d)

Weight: 8.98 lbs total

**ITEM TOTAL:** \$71.80 36 4 ea BUS BOX / TUB \$12.95



TableCraft Products Model No. 1537W Packed 12 ea Tote Box, 21-1/2" x 15-3/4" x 7", pebbled finish outside, reinforced handles, stackable, dishwasher safe, high density polyethylene, white, Made in USA, FDA approved, NSF (must be purchased in multiples of 12 each)

Dimensions 7(h) x 21.5(w) x 15.75(d)

Weight: 9.333 lbs total

37 4 ea BUS BOX / TUB COVER \$27.80 \$6.95

\$51.80

\$51.80

\$27.80

\$13.80

**ITEM TOTAL:** 

**ITEM TOTAL:** 

Item Qty Description Sell Sell Total



TableCraft Products Model No. 1531W Packed 12 ea
Tote Box Cover, 21-3/4" x 16" x 1", high density dishwasher safe,
polypropylene, white, Made in USA, NSF (fits model numbers 1529 &
1537) (must be purchased in multiples of 12 each)
Dimensions 1(h) x 22(w) x 16(d)

Weight: 4.333 lbs total

38 4 ea **UTILITY TONGS** \$2.95 \$11.80



Vollrath Model No. 47007 Packed 12 ea Economy Utility Tongs, 7", 24 ga. stainless steel (Refer to vollrathfoodservice.com for full warranty policy) Dimensions 7(w)

Weight: 0.487 lbs total

39 3 ea **UTILITY TONGS** \$4.60 \$13.80



Vollrath Model No. 47309 Packed 12 ea
Utility Tongs, 9-1/2", heavy duty, 20 ga. stainless steel (Refer to vollrathfoodservice.com for full warranty policy)
Dimensions 9(w)

Weight: 0.93 lbs total

40 2 ea **UTILITY TONGS** \$6.15 \$12.30



Vollrath Model No. 47312 Packed 12 ea
Utility Tongs, 12", heavy duty, 20 ga. stainless steel (Refer to vollrathfoodservice.com for full warranty policy)
Dimensions 12(w)

Weight: 0.68 lbs total

 41
 2 ea
 STANDARD ROUND BOWL DISHER
 \$13.95
 \$27.90



Vollrath Model No. 47146 Packed 12 ea
Disher, round bowl, size 30 (1 oz. capacity), 1-3/4" bowl dia., 18-8
stainless with one-piece color coded black plastic handle with allnatural antimicrobial NSF, Made in USA, Jacob's Pride® Collection,
Limited Lifetime Warranty (Refer to vollrathfoodservice.com for full
warranty policy)
Dimensions 8.5(w)

Weight: 0.82 lbs total

42 2 st MEASURING SPOON \$7.00 \$14.00

Vollrath Model No. 47118 Packed 12 st Measuring Spoon Set, four-piece, 18-8 stainless, capacities stamped in

\$14.00

\$27.60

**ITEM TOTAL:** 

**ITEM TOTAL:** 

Item Qty Description Sell Sell Total

teaspoons & milliliters, set contains; 1-tbl., 1-tsp., 1/2-tsp., 1/4-tsp., packaged in individual blister pack, imported (Refer to vollrathfoodservice.com for full warranty policy)

Weight: 0.44 lbs total

43 4 ea **SCOOP** \$13.95 \$55.80

Rubbermaid Commercial Products Model No. FG9F7500CLR Packed 6 ea Bouncer® Contour Scoop, 32 oz., clear, NSF (contact Rubbermaid for broken case information)

Weight: 2.82 lbs total

44 4 ea **REFRIG/FREEZER THERMOMETER** \$6.90 \$27.60



Cooper-Atkins Model No. 25HP-01-1 Packed 6 ea Refrigerator/Freezer/Dry Storage Thermometer, colored 2" (5cm) dia. dial zoned with specific applications and HACCP guidelines, temperature range -20 to 80°F (-29 to 27°C), ±2°F (±1°C) temperature accuracy, hang or stand, stainless steel, NSF (carded) (36 master carton) (Cooper)

4 ea 1 year warranty, standard
Weight: 0.127 lbs total

45 2 ea **PORTION SCALE** \$99.95 \$199.90



47

Edlund Model No. BRV-160 Packed 4 ea
Bravo! Scale, electronic, portion, 10 lb. x 0.1 oz./160 oz. x 0.1 oz./160
oz. x 1/8 oz./5,000 g x 1 g, removable 5-1/3" square stainless steel
platform, easy-read LCD display, field recalibratable, auto-shut-off,
ClearShield™ protective cover, plastic housing, dual voltage AC power
supply, (2) AA batteries (not included), ISO, NSF

2 ea 1 year limited warranty, standard

4 ea **PERFORATED SERVING SPOON** 

Weight: 1.05 lbs total

### TOTAL: \$199.90

46 4 ea SOLID SERVING SPOON \$1.95 \$7.80

Winco Model No. BSOT-13H Packed 144 ea Basting Spoon, solid, 13", with 1.5 mm stainless steel (Qty Break = 12 each)

Dimensions 13(w)

Weight: 1.184 lbs total

ITEM TOTAL: \$7.80

\$7.80

\$1.95

\$7.80

\$46.00

\$34.00

**ITEM TOTAL:** 

**ITEM TOTAL:** 

**ITEM TOTAL:** 

**ITEM TOTAL:** 

Item Qty Description Sell Sell Total



Winco Model No. BSPT-13H Packed 144 ea
Basting Spoon, 13", perforated, with 1.5 mm stainless steel (Qty Break = 12 each)
Dimensions 13(w)

Weight: 1.184 lbs total

48 2 ea **LADLE** \$23.00 \$46.00



Vollrath Model No. 58055 Packed 12 ea Ladle, 6 oz., 3-5/8" bowl dia., 12-3/8" black Kool-Touch® handle, safe up to 225°F (107.2°C), fully functional to 350°F (176.6°C), equipped with all-natural antimicrobial, round shape ideal for serving chili or soup into cups, portion-sized for most popular china, stainless steel, Made in USA, NSF (Refer to vollrathfoodservice.com for full warranty policy)

Weight: 0.94 lbs total

49 2 ea **LADLE** \$17.00 \$34.00

Vollrath Model No. 58022 Packed 12 ea Ladle, 2 oz., 2-1/4" bowl dia., 9-7/8" black Kool-Touch® handle, safe up to 225°F (107.2°C), fully functional to 350°F (176.6°C), equipped with all-natural antimicrobial, round shape ideal for serving chili or soup into cups, portion-sized for most popular china, stainless steel, Made in USA, NSF (Refer to vollrathfoodservice.com for full warranty policy)

Weight: 0.38 lbs total

50 2 ea **LADLE** \$23.00 \$46.00

Vollrath Model No. 58066 Packed 12 ea Ladle, 8 oz., 4" bowl dia., 12-5/8" black Kool-Touch® handle, safe up to 225°F (107.2°C), fully functional to 350°F (176.6°C), equipped with all-natural antimicrobial, round shape ideal for serving chili or soup into cups, portion-sized for most popular china, stainless steel, Made in USA, NSF (Refer to vollrathfoodservice.com for full warranty policy)

Weight: 1.02 lbs total

 51
 2 ea
 DIPPER
 \$16.95
 \$33.90



Winco Model No. SHHD-1 Packed 48 ea Hooked Handle Dipper, 1 qt., 12" handle, stainless steel (Qty Break = 12 each)

Weight: 1.57 lbs total

52 2 ea **MEASURING CUP** \$8.75 \$17.50

\$33.90



Cambro Model No. 50MCCW135 Packed 12 ea Camwear® Measuring Cup, 1 pint, molded handle, dishwasher safe, polycarbonate, clear, NSF

Weight: 0.78 lbs total

53 2 ea **MEASURING CUP** \$13.95 \$27.90



Cambro Model No. 200MCCW135 Packed 12 ea Camwear® Measuring Cup, 2 qt., molded handle, dishwasher safe, polycarbonate, clear, NSF

Weight: 1.815 lbs total

 54
 1 pk
 SQUEEZE BOTTLE
 \$7.75
 \$7.75



TableCraft Products Model No. C11253C Packed 12 pk
Cash & Carry WideMouth™ Squeeze Bottle, 12 oz., 53mm opening,
dishwasher safe, clear, NSF, Made in USA (display merchandise pack, 6
per pack) (must be purchased in multiples of 12 packs)

Weight: 0.917 lbs total

 55
 2 ea
 VEGETABLE PEELER
 \$3.95
 \$7.90



TableCraft Products Model No. 10997 Perfect Grip Straight Peeler, 7-1/2" x 1-1/4" x 1-1/2", straight edge, stainless steel (1 each minimum order)

 56
 3 ea
 SCOOP
 \$8.75
 \$26.25



Vollrath Model No. 46891 Packed 24 ea Scoop, Cast Aluminum, 12 oz., one-piece, 6-1/4" x 3-1/8" bowl size, imported, NSF (Refer to vollrathfoodservice.com for full warranty policy)

Dimensions 3(h) x 6(w)

Weight: 1.05 lbs total

 57
 2 ea
 COLANDER
 \$11.51
 \$23.02



Winco Model No. CCOD-13S Packed 24 ea Chinese Colander, 13" dia., 2.5mm holes, stainless steel (Qty Break = 12 each) Dimensions 13(w)

Weight: 2.65 lbs total

 58
 2 ea
 STRAINER, CHINA CAP / CHINOIS / BOUILLON
 \$29.00
 \$58.00

Winco Model No. CCS-12F Packed 12 ea

China Cap Strainer, 12", fine, welded handle, 18/8 stainless steel (Qty

Break = 4 each)
Dimensions 12(w)

Weight: 3.652 lbs total

59 2 ea **MIXING BOWL, METAL** \$2.75 \$5.50

Vollrath Model No. 47932 Packed 12 ea

Mixing Bowl, 1-1/2 quart, stainless, 7-3/4" dia., 2-3/4" deep, measurements approximate, imported (Refer to

vollrathfoodservice.com for full warranty policy) Dimensions 2(h) x 7(w)

Weight: 0.683 lbs total

60 2 ea MIXING BOWL, METAL \$4.80 \$9.60

Vollrath Model No. 47934 Packed 12 ea
Mixing Bowl, 4 quart, stainless, 10 11/16" dia., 3 3/4" deep,
measurements approximate, imported (Refer to
vollrathfoodservice.com for full warranty policy)

Dimensions 3(h) x 10(w)

Weight: 1.12 lbs total

61 2 ea **MIXING BOWL, METAL** \$14.95 \$29.90

Vollrath Model No. 47943 Packed 6 ea

Mixing Bowl, 13 quart, stainless, 16" dia., 5-1/2" deep, measurements approximate, imported (Refer to vollrathfoodservice.com for full warranty policy)

Dimensions 5(h) x 16(w)

Weight: 3.46 lbs total

62 2 ea **MIXING BOWL, METAL** \$11.25 \$22.50

\$9.60

\$29.90

**ITEM TOTAL:** 

**ITEM TOTAL:** 



Vollrath Model No. 47938 Packed 12 ea

Mixing Bowl, 8 quart, stainless, 13-1/2" dia., 5" deep, measurements approximate, imported (Refer to vollrathfoodservice.com for full warranty policy)

Dimensions 5(h) x 13(w)

Weight: 1.92 lbs total

**ITEM TOTAL:** \$22.50 63 2 ea MIXING BOWL, METAL \$16.75 \$33.50

Vollrath Model No. 47946

Packed 6 ea Mixing Bowl, 16 quart, stainless, 17-1/2" dia., 6-1/2" deep,

measurements approximate, imported (Refer to vollrathfoodservice.com for full warranty policy)

Dimensions 6(h) x 17(w)

Weight: 3.82 lbs total

**ITEM TOTAL:** \$33.50 64 2 ea MIXING BOWL, METAL \$6.50 \$13.00

> Vollrath Model No. 47935 Packed 12 ea

Mixing Bowl, 5 quart, stainless, 11 3/4" dia., 4-1/2" deep, measurements approximate, imported (Refer to vollrathfoodservice.com for full warranty policy)

Dimensions 4(h) x 11(w)

Weight: 1.3 lbs total

**ITEM TOTAL:** \$13.00 65 2 ea **SPATULA** \$13.95 \$27.90

> Vollrath Model No. 52023 Packed 6 ea

High-Temp Spatula, 13-1/2", white contoured flexible blade, nonscratching, non-staining silicone spoon/blade resists heat up to 500°F (260°C), red polypropylene handle molded to spoon blade to form sanitary seal, dishwasher safe, NSF (Refer to vollrathfoodservice.com for full warranty policy)

Weight: 0.797 lbs total

2 ea SPATULA 66 \$10.45 \$20.90

Vollrath Model No. 52010 Packed 6 ea

High-Temp Spatula, 10", white contoured flexible blade, nonscratching, non-staining silicone spoon/blade resists heat up to 500°F (260°C), red polypropylene handle molded to spoon blade to form sanitary seal, dishwasher safe, NSF (Refer to vollrathfoodservice.com for full warranty policy)

Weight: 0.5 lbs total

2 ea SPATULA \$22.30 67 \$11.15

\$27.90

\$20.90

**ITEM TOTAL:** 

**ITEM TOTAL:** 



Vollrath Model No. 58110 Packed 6 ea High-Temp SoftSpoon™, 10", white spoon shaped blade, nonscratching, non-staining silicone spoon/blade resists heat up to 500°F (260°C), red polypropylene handle molded to spoon blade to form sanitary seal, dishwasher safe, NSF (Refer to vollrathfoodservice.com for full warranty policy)

Weight: 0.53 lbs total

68 2 ea PASTRY BRUSH

S11.95

**\$22.30** \$23.90

Carlisle Model No. 4039202 Packed 12 ea

Sparta® Galaxy™ Pastry Brush, 3" wide, flat, hanging hole, bristles
epoxy-set to ferrules, soft, tapered with chisel-point trim, one-piece
plastic handle, nylon, white, Made in USA
Dimensions 8.25(w)

Weight: 0.25 lbs total

3 ea FRENCH WHIP / WHISK

ITEM TOTAL: \$23.90

\$5.95 \$17.85



69

TableCraft Products Model No. SF12 Packed 12 ea French Whip, 12", sealed wires, dishwasher safe, stainless steel (1 each minimum order)

Weight: 1 lbs total

70 2 ea FRENCH WHIP / WHISK

ITEM TOTAL: \$17.85

\$5.45 \$10.90



TableCraft Products Model No. SF10 Packed 12 ea French Whip, 10"L, dishwasher, stainless steel (must be purchased in multiples of 60 each)

71 2 ea FRENCH WHIP / WHISK

**ITEM TOTAL:** \$10.90

\$14.90

\$7.45

TableCraft Products Model No. SF16 Packed 12 ea French Whip, 16", sealed wires, dishwasher safe, stainless steel (1 each minimum order)

Weight: 0.833 lbs total

72 2 ea **FRENCH WHIP / WHISK** \$6.05 \$12.10

\$12.10

\$16.95

**ITEM TOTAL:** 

**ITEM TOTAL:** 

**ITEM TOTAL:** 

Item Qty Description Sell Sell Total

TableCraft Products Model No. SF14 Packed 12 ea French Whip, 14"L, dishwasher, stainless steel (must be purchased in multiples of 60 each)

73 4 ea **MUFFIN PAN** \$69.95 \$279.80



Winco Model No. HMF-35T Packed 4 ea Cupcake Pan, 17-7/8" x 25-7/8" OA, Holds (35) 2-3/4" dia. cupcakes, 3.8 oz. each, 5 rows of 7, wire in rim, 26 gauge aluminized steel, silicone glazed, PFOA & PTFE Free (QTY Break = 12 each) Dimensions 1.38(h) x 25.79(w) x 17.91(d)

Weight: 28 lbs total

74 1 pk PARING KNIFE \$16.95 \$16.95



Dexter Russell Model No. S104-3PCP Packed 8 pk Sani-Safe® (15383) Cook's Style Paring Knife, 3-1/4", stain-free, high-carbon steel, non-slip, textured, polypropylene white handle, Perfect Cutlery Packaging, NSF Certified, Made in USA (3 each per pack) Dimensions 0.58(h) x 8.68(w) x 6.56(d)

Weight: 0.281 lbs total

75 2 ea **CHEF KNIFE** \$31.95 \$63.90

LEGISE

Dexter Russell Model No. S145-10PCP Packed 6 ea Sani-Safe® (12433) Chef's/Cook's Knife, 10", stain-free, high-carbon steel, textured, polypropylene white handle, Perfect Cutlery Packaging, NSF Certified Dimensions 0.62(h) x 16.37(w) x 3.87(d)

Weight: 1 lbs total

76 4 ea **CHEF KNIFE** \$28.95 \$115.80

Si Si

Dexter Russell Model No. S145-8PCP Packed 6 ea Sani-Safe® (12443) Chef's/Cook's Knife, 8", stain-free, high-carbon steel, textured, polypropylene white handle, Perfect Cutlery Packaging, NSF Certified Dimensions 0.62(h) x 15(w) x 3.87(d)

Weight: 1.587 lbs total

77 2 ea **BREAD / SANDWICH KNIFE** \$25.95 \$51.90

\$115.80

Item	Qty	Description	Sell	Sell Total
		Dexter Russell Model No. S147-10SC-PCP Packed 6 ea Sani-Safe® (18173) Bread Knife, 10", scalloped edge, curved, stainfree, high-carbon steel, textured, polypropylene white handle, Perfect Cutlery Packaging, NSF Certified Dimensions 0.62(h) x 16.37(w) x 3.87(d)		
		Weight: 0.583 lbs total	ITEM TOTAL:	\$51.90
78	2 ea	BREAD / SANDWICH KNIFE  Dexter Russell Model No. S162-8SC-PCP Packed 6 ea  Sani-Safe® (13313) Bread Knife, 8", scalloped edge, stain-free, high carbon steel, textured, polypropylene white handle, Perfect Cutler Packaging, NSF Certified  Dimensions 0.62(h) x 15(w) x 3.87(d)	\$16.95	\$33.90
		Weight: 0.627 lbs total	ITEM TOTAL	ć22.00
<del></del> 79	2.00	UTILITY KNIFE	\$14.75	<b>\$33.90</b> \$29.50
		Dexter Russell Model No. S156SC-PCP Packed 6 ea Sani-Safe® (13303) Utility Slicer, 6", scalloped edge, stain-free, high carbon steel, textured, polypropylene white handle, Perfect Cutler Packaging, NSF Certified, Made in USA Dimensions 0.62(h) x 12.12(w) x 3.87(d)		
		Weight: 0.333 lbs total		4-0
	2	DOMING VALLET	ITEM TOTAL:	\$29.50
80	2 ea	BONING KNIFE  Dexter Russell Model No. S136F-PCP Packed 6 ea  Sani-Safe® (01543) Boning Knife, 6", flexible, stain-free, high-carbo steel, textured, polypropylene white handle, Perfect Cutlery Packaging, NSF Certified, Made in USA  Dimensions 0.62(h) x 12.12(w) x 3.87(d)	\$19.50 n	\$39.00
		Weight: 0.543 lbs total		
		ŭ	ITEM TOTAL:	\$39.00
81	2 ea	ASIAN KNIFE  Dexter Russell Model No. SG144-7GE-PCP Packed 6 ea  SofGrip™ (24503) Santoku Knife, 7", duo-edge, stain-free, high-carb steel, non-slip, white, soft rubber grip handle, Perfect Cutlery Packaging, NSF Certified, Made in USA Dimensions 0.62(h) x 15(w) x 3.87(d)	\$37.80 oon	\$75.60
		Weight: 0.627 lbs total		
			ITEM TOTAL:	\$75.60
82	6 ea	FRY PAN	\$33.00	\$198.00

Qty Description Sell Sell Total Item Vollrath Model No. 672308 Packed 6 ea Wear-Ever® Fry Pan, 8" dia., heat resistant up to 450°F continuous use, 600°F intermittent use, ergonomic grip, EverTite® riveting system, SteelCoat x3 nonstick, EverTite® riveting system, aluminum (Refer to vollrathfoodservice.com for full warranty policy) Dimensions 3.15(h) x 15.1(w) x 15.35(d) **ITEM TOTAL:** \$198.00 83 2 ea FRY PAN \$45.00 \$90.00 Vollrath Model No. 672310 Packed 6 ea Wear-Ever® Fry Pan, 10" dia., heat resistant up to 450°F continuous use, 600°F intermittent use, ergonomic grip, EverTite® riveting system, SteelCoat x3 nonstick, EverTite® riveting system, aluminum (Refer to vollrathfoodservice.com for full warranty policy) Dimensions 2.67(h) x 17.91(w) x 18.3(d) **ITEM TOTAL:** \$90.00 84 1 ea FRY PAN \$88.00 \$88.00 Vollrath Model No. 672314 Wear-Ever® Fry Pan, 14" (35.6 cm), with SteelCoat x3™ non-stick coating, plated handle, riveted, heat resistant up to 450°F continuous use, 600°F intermittent use, aluminum, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy) Dimensions 4.53(h) x 25.28(w) Weight: 5.52 lbs total **ITEM TOTAL:** \$88.00 85 3 ea SAUCE PAN \$120.00 \$40.00 Vollrath Model No. 682145 Packed 6 ea Wear-Ever® Tapered Sauce Pan, 4.5 qt. (4.3 liter), silicone handle, riveted, natural finish, 11-gauge aluminum, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy) Dimensions 5.85(h) x 17.01(w) **ITEM TOTAL:** \$120.00 86 2 ea SAUCE PAN \$62.00 \$31.00 Vollrath Model No. 6821275 Packed 6 ea Wear-Ever® Tapered Sauce Pan, 2.75 qt. (2.6 liter), silicone handle, riveted, natural finish, 11-gauge aluminum, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy) Dimensions 5.1(h) x 14.65(w)

2 ea SAUCE PAN

87

Weight: 3.363 lbs total

\$62.00

\$116.00

**ITEM TOTAL:** 

\$58.00

\$122.00

\$77.00

¢07 6E

**ITEM TOTAL:** 

**ITEM TOTAL:** 

ITEMA TOTAL.

Item Qty Description Sell **Sell Total** 



Vollrath Model No. 682170 Packed 6 ea

Wear-Ever® Tapered Sauce Pan, 7 qt. (6.6 liter), silicone handle, riveted, natural finish, 11-gauge aluminum, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy)

Dimensions 7.22(h) x 23.43(w)

Weight: 6.153 lbs total

**ITEM TOTAL:** \$116.00 88 2 ea SAUCE PAN \$122.00 \$61.00



Vollrath Model No. 682185 Packed 6 ea Wear-Ever® Tapered Sauce Pan, 8.5 qt. (8 liter), silicone handle, riveted, natural finish, 11-gauge aluminum, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy) Dimensions 7.69(h) x 24.13(w)

Weight: 7.46 lbs total

			T
8	9 1 ea <b>BRAZIER PAN</b>	\$77.00	\$77.00
	Winco Model No. AI R-24		



Elemental Brazier, 24 qt., 18-1/4" x 5-3/8", 4mm, 3003 Aluminum, NSF (Qty Break = 2 each)

90	1 ea	STOCK POT	\$56.00	\$56.00
58 III		Winco Model No. ALST-24		



Elemental Stock Pot, 24 qt., 12-1/8" x 11-3/8", 4mm, 3003 Aluminum, NSF (Qty Break = 2 each)

ALPC-24 Flemental Aluminum Cover, for ALST-24, ALHP-24, 12,48", NSF \$10.95 \$10.95

Cu	ALI C 24 Elemental Alammani Cover, 101 ALS1 24, ALTI	27, 12.70	,
	(Qty Break = 6 each)		

**ITEM TOTAL:** \$66.95 91 1 ea STOCK POT \$71.00 \$71.00 Winco Model No. ALST-32

Elemental Stock Pot, 32 qt., 14-1/8" x 13", 4mm, 3003 Aluminum, NSF (Qty Break = 2 each)

1 ea ALPC-32 Elemental Aluminum Cover, for ALST-32, ALB-15, ASSP-26, \$16.65 \$16.65 ALHP-32, ASHP-26, ALBH-15, ASET-7, 13.74", NSF (Qty Break = 6 each)

		HEWITOTAL.	367.03
92	1 ea STOCK POT	\$47.00	\$47.00
	Winco Model No. ALST-16		

Elemental Stock Pot, 16 qt., 11-3/8" x 10-1/4", 4mm, 3003 Aluminum, NSF (Qty Break = 4 each)

1 ea ALPC-16 Elemental Aluminum Cover, for ALST-16, ALHP-16, 10.91", NSF \$8.80 \$8.80 (Qty Break = 6 each)

**ITEM TOTAL:** \$55.80 93 1 ea ROASTING PAN \$200.00 \$200.00



Vollrath Model No. 68365 Packed 2 ea Roasting Pan Bottom, 42-1/2 quart, 22-1/8" x 20-1/8" x 6-9/16", 10 ga. aluminum, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy)

Dimensions 6.56(h) x 22.13(w) x 20.13(d)

Weight: 9.95 lbs total

## 94 2 ea **ROASTING PAN**

\$117.00

**ITEM TOTAL:** 

**\$200.00** \$234.00

Vollrath Model No. 68367 Packed 2 ea Roasting Pan Bottom, 17-3/4 quart, 20" x 11-1/8" x 5-1/2", 12 ga. aluminum, NSF, Made in USA (Refer to vollrathfoodservice.com for full warranty policy)

Dimensions  $5(h) \times 20(w) \times 11(d)$ 

Weight: 8.76 lbs total

 1 ea
 PLANETARY MIXER
 \$2,135.00
 \$2,135.00

95

Vollrath Model No. 40756
Planetary Mixer, countertop, 10 qua

Planetary Mixer, countertop, 10 quart, 13-1/16"W x 17-11/16"D x 21-3/16"H, 5-speed direct drive transmission, digital timer with automatic stop, includes: safety guard, stainless steel bowl, flat beater, wire whisk & dough hook, non-skid rubber base, 1/3 HP, 110-120v/60/1-ph, 6 amps, cord, NEMA 5-15P, NSF, cETLus, imported (MIX1010) (Refer to vollrathfoodservice.com for full warranty policy)

Dimensions 21.19(h) x 13.06(w) x 17.69(d)

1 ea Warranty period is 2 years on parts, 1 year on labor & 5 years on belt

Weight: 51.9 lbs total

96 1 ea **FOOD SLICER, ELECTRIC** \$12,460.00 \$12,460.00



Globe Model No. SG13A

Premium Heavy Duty Advanced Slicer, automatic, 13" steel knife, (4) speeds, (3) stroke lengths, LCD display, 4-hour cleaning notification, top-mounted removable sharpener with synthetic diamond surfaces, knife cover interlock, home start, return to home, close to stop, interlocked tilting carriage (accommodates 13-3/4"H x 8" dia. x 11"W), adjustable timer, no voltage release, auto off, lift lever, seamless anodized aluminum base, 1/2 HP knife motor, 115v/60/1-ph, 2.5 amps, cord, NEMA 5-15P, cETLus, ETL-Sanitation, Made in USA (Replaces 4795N)

Dimensions 31.5(h) x 31.5(w) x 31.5(d)

1 ea 2 year parts & labor slicer warranty, lifetime sharpening stones warranty, standard

Weight: 143 lbs total

ITEM TOTAL: \$12.460.00

1 ea ICE MAKER WITH BIN, CUBE-STYLE \$2,335.00  Manitowoc Model No. UDE0065A  NEO® Undercounter Ice Maker, cube-style, air-cooled, self contained, 19-11/16"W x 22-11/32"D x 36"H, production capacity up to 57 lb/24 hours at 70°/50° (46 lb at 90°/70°), 31 lb ice storage capacity, full bin and service indicators, production delay of (4, 12, or 24 hours), Alpha- San anti-microbial protection, forward sliding storage bin for access to refrigeration components, sealed foodzone with removable water trough, distribution tube and damper door, on/off/clean switch, dice size cubes, 6" adjustable legs, NSF, cULus, CE (Replaces QM-30A; CONTACT DISTRIBUTOR FOR AVAILABILITY) Dimensions 36(h) x 19.69(w) x 22.34(d)	
Manitowoc Model No. UDE0065A  NEO® Undercounter Ice Maker, cube-style, air-cooled, self contained, 19-11/16"W x 22-11/32"D x 36"H, production capacity up to 57 lb/24 hours at 70°/50° (46 lb at 90°/70°), 31 lb ice storage capacity, full bin and service indicators, production delay of (4, 12, or 24 hours), Alpha- San anti-microbial protection, forward sliding storage bin for access to refrigeration components, sealed foodzone with removable water trough, distribution tube and damper door, on/off/clean switch, dice size cubes, 6" adjustable legs, NSF, cULus, CE (Replaces QM-30A; CONTACT DISTRIBUTOR FOR AVAILABILITY)	
·	\$2 <b>335 N</b> N
Difficitions 30(11) x 13.03(w) x 22.34(u)	\$2 <b>335 N</b> N
1 ea WARRANTY-SM/QM 3 year parts & labor (Machine), standard 1 ea (-161B) 115v/60/1-ph, 5.3 amps, cord with NEMA 5-15P Weight: 109 lbs total	\$2,335,00
ITEM TOTAL:	7 <u>~</u> ,~~
98 2 ea BUSSING UTILITY TRANSPORT CART Winco Model No. UC-3019K Utility Cart, 3-tier, 40-3/4"W x 19-1/2"D x 37-3/8"H, 400 lb capacity, plastic, black, KD (Qty Break = 1 each) Dimensions 37.38(h) x 40.75(w) x 19.5(d)	\$392.00
Weight: 61.82 lbs total	
ITEM TOTAL:	\$392.00
99 1 ea BUSSING UTILITY TRANSPORT CART, METAL \$325.00 Lakeside Manufacturing Model No. 322 Utility Cart, open, (3) shelf, shelf size 27"W x 18"D, stainless steel angle frame with push handle, 20 ga. stainless steel legs, 300 lb. capacity, 3-1/2" swivel casters, Made in USA Dimensions 33(h) x 30.75(w) x 18.38(d)	\$325.00
1 ea Casters, 3-1/2", swivel, standard	
Weight: 32 lbs total	
ITEM TOTAL:	\$325.00
100 1 ea CAN OPENER \$139.00  Edlund Model No. 1 Packed 3 ea  Can Opener, manual, #1™ with plated base (for cans up to 11" tall)  "Old Reliable"™	\$139.00
1 ea 1 year limited warranty, standard	
Weight: 9 lbs total  ITEM TOTAL:	\$139.00
Total	\$26,061.30

#### Delivery -

Orders of equipment that have delivery as part of the quote are delivered by a third party contracted by Alaska Restaurant Supply, Inc. Deliveries are to the customers curb outside their door only.

If you require inside delivery, we can work with a moving company to assist you, however, there is an additional charge for this delivery service. If your equipment can not be unloaded with a lift gate due to size, the customer is responsible for having equipment on site that will allow for unloading of equipment. Customers that schedule a delivery, and then are not there for delivery will be required to pay a redelivery fee equal to the cost charged to ARS for the delivery attempt.

# <u>Special Orders / Parts - All special orders require prepayment and are not able to be canceled or returned once placed, even if you incorrectly order a part.</u>

All parts orders are quoted FOB Factory, and actual freight charges are billed upon receipt. We are unable to estimate or quote freight charges in advance.

Acceptance:	Date:	
Printed Name:		
Project Grand Total: \$26.061.30		